3 N TR OB, 4Bl (3 X)) AN —  EnpT
BERAO
W T % ool ERIR K| B 7 | 1SRN | 15~645% | 65280 L
“ S 19,342 | 61,791 30,761 | 31,030 | 12,839 | 42,759 6,193
N T 17 2,020 1,011 1,009 247 1, 417 356
r £ 152 529 257 272 68 348 113
71 i 94 316 161 155 36 216 64
= H 17 73 36 37 7 47 19
XA T K — T H 183 523 258 265 103 391 29
X F ® = T H 191 633 310 323 117 476 40
X F ®¥ = T H 283 876 432 444 194 621 61
X F KR m T H 276 952 464 488 173 706 13
E ] 207 695 357 338 96 461 138
/N R 1,208 3,608 1,836 1,772 588 2,528 492
Nk B OB K X X X| X X X X
Moo — T B 188 656 332 324 102 505 49
N OO = T H 60 184 92 92 47 121 16
Mo ok = T H 72 265 133 132 53 198 14
No¥ d H T H 166 561 276 285 103 404 54
VN | A2 S B = 118 414 198 216 79 292 43
N K BB - T B 188 676 332 344 141 411 64
N O®E M Z T H 58 191 97 94 69 122 0
N B O®B M= T B 125 419 207 212 105 292 22
N KM T —TH 130 451 224 227 90 3317 24
N KM T ZTH 122 463 229 234 120 3217 16
N KM T =TH 83 288 138 150 85 195 8
X # 1,916 5,396 2,669 | 2,727 663 3,694 1,039
i 2 60 232 114 118 21 168 43
& % 54 219 101 118 32 129 58
5 1k 122 415 219 196 57 263 95
i ) 10 25 14 11 2 20 3
& il Al 15 49 25 24 5 31 13
H B 264 981 501 480 109 630 242
T O S - - X X X X X X X
= W& 55 217 112 105 22 148 47
T & £ H 35 94 52 42 12 63 19
= 7 P 2] 1 18 12 6 1 14 3
N a 35 128 62 66 18 88 22




B3k TR OB, ER (3R BIADO - mEd @)

0} T o & |HEEB K| B | I5ERRNE | 15~645% | 655%L1 L
N B & — T H 667 2,007 917 | 1,030 193 1,406 108
N B B = T B 48| 1,369 686 683 428 901 40
N B A = T H 166 1,633 816 §17 93| 1,018 62
AN A OB m T H 202 1,331 684 647 356 920 55
n = 76 313 163 150 28 202 83
X B = T BH 7 220 107 13 1 153 25
o kK F o— T B 102 312 153 159 33 250 29
A M — T H 271 979 191 188 243 691 I
X W = T & 398 | 1,432 681 51 308 1,049 75
A M = T B 199 655 319 336 57 555 43
A M m T B 106 1,334 635 699 138 1,070 126
A XM HE T B 169 566 282 284 99 419 55
A XM A T B 285 | 1,004 485 519 211 147 16
R® i 11 270 131 139 31 173 66
REEEAE=-TH X X X X X X X
&l o 51 293 121 102 21 134 62
s = 167 609 | - 312 297 94 381 134
A 5 147 572 293 279 85 358 129
# & % 50 204 101 103 26 128 50
% & & B 17 62 33 29 (| 37 18
m % - T B 796 2,037 1,031 1,008 150 | 1,405 182
W ®m = T H LOoT| 2,872 | 1445 | 1,427 611 2,053 208
wm % = T B 135 161 5 86 12 149 0
B L — T B 28| 693 47| 6| 192 150 51
B o — T H 570 | 1,834 894 940 519 | 1,249 66
E b = T B 77| 1,862 902 960 11| 1,30 120
m % — T B 393 1,335 658 677 404 846 85
m % = T B 248 101 363 338 221 468 12
B % = T B 99 326 168 158 78 210 38
o m T B 12 1,585 805 780 353 1,135 97
m % ® T B 292 972 500 | 472 148 119 105
m & A T H 500 1,722 854 868 32| 1,21 169
B 7 392 1,413 688 795 189 930 204
moo B — T B 304 1,026| 499 527 341 658 27
oo E T B 298 968 173 495 311 631 26
moo B = T H 695  2,393| 1,208| 1,180 858 | 1,500 35
B = T B 250 118 381 397 277 186 15




B3FE NTERIHR R OB, (3 X BIAD ~ ()
o nle x| B 0 | I6EEsKRNE | 15~643% | 65200 E
478 1,319 677 642 342 873 | 104
32 120 58 62 12 82
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